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Assume it always

Uploaded By: Jibreel BornatSTUDENTS-HUB.com



Three cases for the root

Case 1

Case 2

Case 3
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y + Sy + by = 0 , y(0) = 2 , y() =3

n2 + gr + 6 = 0 -St

(r +s((r+ 1) =0 = y(t) = eit => Y , (t) = e

r = - 5
,
N = - 1

Yc() =ert Yalt) =
et

-SE
y = C , Y , + Caye = Ge+Get = y

y(t) = -50,St - Cet
y(0) = C + C = 2

= -y =3 C = -
j(0) = =3 - C = 3 Y

y" - yy + my = 0 of Noy
*
Xe =aronaldo

r2 ur +y = 0

(r = 2()r-2)
Mit rt

r = 2 = Red repeated = y = e Yz = te

2t
y = G,e + Cate

y" - 2y + 2y =0

m2 + 2n +2 = 0

~=

o
wine
= n=D C= 1

9. = eit Coscui) Y = etcost)

Y = eit gin(ai) Yz= et sin (1)

y" + ay = 0

ma =or = Fa =) r== r= 3
m =3 750 , alib

y ,=t Costct) =) Y = cos(3t)

Yz= et sin (f) Y2= Sin (3t)
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in Complex =119g

n= 6 = Snac
2a
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How to solve it
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* y" + SXy + yy = 0 X70

2 = 5 B = 4

-2 + (x - 11r + B =0 =) m + yr + y =0

y , = XM
(r +2)(r+ 2)
r = - 2

Y z = (nX + ym Red relate

Y = Gy, +Cy

-Calnxxm

2x
&y" +3xy = y = 0
z zz

X-y" + &xy - zy =04= B=

n2 + (c - 1)n + B = 0
m + yn = t = 0 = (r + )(r-

X*y" + Xy + y =0 = 1
, B=

r 1 = 0 =) r= r= 70 Wil

3. = * Cos(a)inx) = Y = Cos (Inx)

Ye= Sin (c) Inx) Yz= Sin (Inx)

Y = C COS (inX) + C2 Sin(Inx)
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(t2 b) y" + (Sint))y - luit)y = E

y ( -1) = 0
, y()=0

y")
( -2 , 0)
-
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3 . 2 . 6

S
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&Constant 0
.
15
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3 . =
43

, Ey" - by =0 PH = 0

y" - &y = 0

Ye = y , (
- Ip

(1y,Yet) = ce

d
w = ce/0 => w = ce

Y2 = +3 (e = ce (t
2

(E6
=-E of cel
⑤
d

Ye:
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steps to solve

1
In "homog . Solution"

2 yp "Particular solution"

3 Yg = yn + yp
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